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QUESTION 1

Refer to the exhibit.

Refer to the exhibit.
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An NSX administrator is retrieving a log bundle at the request of VMware Global Support. It is taking a long time to get
the log bundle. The administrator reviews the configuration.

Which two changes to the configuration must be made to speed up the creation of the bundle. (Choose two.)
A. Disable upload bundle to remote file server

B. Change transfer protocol

C. Do not use ssh fingerprint

D. Create the support bundle from vCenter

E. Disable Include core files and audit logs

Correct Answer: BC

QUESTION 2
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Which NSX CLI command is used to change the authentication policy for local users?
A. set cli-timeout

B. set hardening-policy

C. get auth-policy minimum-password-length

D. set auth-policy

Correct Answer: C

Reference https://vdc-download.vmware.com/vmwb-repository/dcr-public/182d387c-

eaa8-4cdc-812d8cb25812fefd/d09cad1f-553d-4c9e-a5b1-6544280eec25/NSX-T%20Command-Line%20Interface%
20Reference.html

QUESTION 3

Which statement Is true regarding the audit user account? (Choose two.)

A. The admin user must set the password for the audit account to log in to NSX Manager.
B. The administrator must run the set audit user password command.

C. The audit user has read-write access to the NSX Manager.

D. The audit user is disabled by default and must be enabled to log in to the NSX Manager.
E. The administrator must run the set user audit password command.

Correct Answer: AD

QUESTION 4

Which protocol uses the 6081 UDP port?

A. Network Virtualization using Generic Routing Encapsulation (NVGRE)

B. Generic Network Virtualization Encapsulation (GENEVE)

C. Stateless Transport Tunneling (STT)

D. Virtual Extensible LAN (VXLAN)

Correct Answer: B

Reference: https://www.google.com/url?sa=tandrct=jandq=andesrc=sandsource=webandcd=3andved=2ahUKEw;j50LKI
nMAhWMxYUKHV88BROQF]ACegQIAXACandurl=ftp%3A%2F%2Fftp.inwinstack.com%2FOther% 2FAI-NSX-

?%2 FVMware%2FVMWare%2520NSX-T%2FDocuments%
2Fnsxt_21_install.pdfandusg=A0vVaw02ljROHyt_g9_PzIwhFXxq (25)
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QUESTION 5

Which NSX CLI command is used to check the GENEVE tunnel status on ESXi transport node?
A. get host-switch tunnels

B. get host-switch tunnel status

C. get transport-node tunnel state

D. get transport-node tunnel status

Correct Answer: A
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